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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Complete the frequency/relative frequency table for the data given,

1) Kevin asked some of his friends how many hours they worked during the previous week at their after-school

jobs.
666466976476 .
e Jy‘
676676676774
Hours IFrequencg |Relative Frequency s
= s |
9-18 7 74 = ¥ 24
. 2/ 2y 25
= f’
~7 oy

AL

Construct a bar graph as requested.

2) The table lists blood types in a sample of hospital patients. Construct a bar graph for the relative frequency data.
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Construct the specified histogram.

3} During the quality control process at a manufacturing plant, 142 finished items are randomtly selected and
weighed. The results are summarized in the frequency table below. Construct a relative-frequency histogram

corresponding to the frequency table,
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Solve the problem.

4) The ages of people randomly surveyed on a college
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campus are summarized in the bar graph.
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How many people were 19 years old?
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This double-bar graph shows the number of male (M) and female (F) athletes at a university over a four-year period.
Answer the question,
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5) Which year had the greatest number of male athletes? /9?8 ?

Find the mean, median, and mode for the given distribution.
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Solve the problem. Round to the nearest hundredth, if necessary.

7) The following data gives the number of applicants that applied for a job at a given company each month of
2014: 64, 68, 95, 76, 78, 82, 87, 88, 91, 95, 72, 64. What is the mode of the data?

6 4 and 95

8) Of the three Measures of Central Tendency, which one is most effective by outliers?
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Identify the number as either prime or composite.
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Give the prime factorization of the number. Use exponents when possible,
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Find the L.CM for the pair of natural numbers.
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Find n(A) for the set.
12) A={m, 0
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